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E–413 

M. A./M. Sc. (Second Semester) (ATKT) 
EXAMINATION, May-June, 2021 

GEOGRAPHY 

Paper Sixth 

(Economic and Natural Resource Management) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- x`fg.kh O;olk; fdl oxZ esa gS \ 

¼v½ lhekar dehZ 
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¼c½ eq[; dehZ 

¼l½ vdk;Z’khy 

¼n½ dk;Z’khy 

House wife falls in which economic activities ? 

(a) Marginal worker 

(b) Main worker 

(c) Non-worker 

(d) Worker 

2- ßlalk/ku i;kZoj.k dh os fo’ks”krk,¡ gSa tks euq”; dh vko’;drkvksa dh 

iwfrZ esa l{ke ekuh tkrh gSa mUgsa euq”; dh vko’;drkvksa vkSj {kerkvksa 

}kjk mi;ksfxrk iznku dh tkrh gSAÞ fdlus dgk Fkk \ 

¼v½ ih- bZ- eSduky 

¼c½ bZ- MCY;w- ftEejeSu 

¼l½ ijfdUl ek’kZ 

¼n½ ts- vks- ,e- czkWd 

Who told “Features of the environment which are considered 
to capable of serving man’s need, they are giver utility by the 
capabilities and wants of man” ? 

(a) P. E. MacNall 

(b) E. W. Zimmermann 

(c) Perkins Marsh 

(d) J. O. M. Brock 
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3- o`f) dh lhek,¡ (Limits to Growth) ds ys[kd lEcfU/kr gSa % 

¼v½ la;qDr jkT; vesfjdk ls 

¼c½ tkiku ls 

¼l½ jkse ls 

¼n½ vkWLVsªfy;k ls 

Propounded of “Limits to Growth” is related to : 

(a) U. S. A. 

(b) Japan 

(c) Rome 

(d) Australia 

4- buesa ls dkSu&lk lalk/ku uO;dj.kh; gS \ 

¼v½ rsy 

¼c½ yksgk 

¼l½ dks;yk 

¼n½ Hkwfe 

Which one of the following is a renewable resources ? 

(a) Oil 

(b) Iron 

(c) Coal 

(d) Land 
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5- ßlalk/ku gksrs ugha curs gSaAÞ fdlus dgk Fkk \ 

¼v½ ts- vks- ,e- czksd 

¼c½ ih- bZ- eSduky 

¼l½ ijfdUl ek’kZ 

¼n½ bZ- MCY;w- ftEejeSu 

Who told “Resource are not they became” ? 

(a) J. O. M. Brock 

(b) P. E. MacNall 

(c) Perkins Marsh 

(d) E. W. Zimmermmann 

6- tc ‘kfDr la;a= ls mRikfnr ÅtkZ gS % 

¼v½ xSj&iznw”k.kdkjh vkSj xSj&uO;dj.kh; 

¼c½ iznw”k.kdkjh vkSj xSj&uO;dj.kh; 

¼l½ xSj&iznw”k.kdkjh vkSj uO;dj.kh; 

¼n½ iznw”k.kdkjh vkSj uO;dj.kh; 

The energy produced by the hydel power plant is : 

(a) Non-polluting and non-renewable  

(b) Polluting and non-renewable 

(c) Non-polluting and renewable 

(d) Polluting and renewable 
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7- e`nk vijnu dks jksdk tk ldrk gS % 

¼v½ fuoZuhdj.k ls 

¼c½ oujksi.k ls 

¼l½ vf/kd pjkbZ ls 

¼n½ ouLifr;ksa dks gVkus ls 

Soil erosion can be prevented by : 

(a) Deforestation 

(b) Forestation 

(c) Overgrazing 

(d) Removal of vegetation 

8- fiNyh Qlyksa ds fouk’k dks feêh esa lekfo”V fd;k tkrk gS % 

¼v½ laj{k.kkRed cqvkbZ ls 

¼c½ uohu cqvkbZ ls 

¼l½ izkphu cqvkbZ ls 

¼n½ ikjEifjd cqvkbZ ls 

Residence from the previous crop are incorporated in the soil 

is : 

(a) Conservational tillage 

(b) Modern tillage 

(c) Primitive tillage 

(d) Conventional tillage 
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9- fuoZuhdj.k lkekU;r% de djrk gS % 

¼v½ oSf’od riu dks 

¼c½ o”kkZ dks 

¼l½ lw[kk dks 

¼n½ eǹk vijnu dks 

Deforestation generally decreases : 

(a) Global warming 

(b) Rainfall 

(c) Drought 

(d) Soil erosion 

10- fuEufyf[kr esa ls fdls ÅtkZ dk ikjEifjd v{ke lzksr ekuk tkrk  

gS \ 

¼v½ rkih; 

¼c½ ÅtkZ 

¼l½ gkbMªksikoj 

¼n½ ok;q 

Which of the following is considered as conventional in 
exhaustible source of energy ? 

(a) Thermal 

(b) Energy 

(c) Hydropower 

(d) Wind 
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11- v/kkfRod [kfut ik, tkrs gSa % 

¼v½ vkXus; pêku esa 

¼c½ :ikUrfjr pêku esa 

¼l½ ijrnkj pêku eas 

¼n½ mi;qZDr lHkh 

Non-metallic minerals are found in : 

(a) Igneous rocks 

(b) Metamorphic rocks 

(c) Sedimentary rocks 

(d) All of the above 

12- fuEufyf[kr esa ls dkSu&lk ns’k dks;ys dk lokZf/kd mRiknu djrk  

gS \ 

¼v½ la;qDr jkT; vesfjdk  

¼c½ Hkkjr 

¼l½ vkWLVªsfy;k 

¼n½ phu 

Which of the following country is largest producer of coal ? 

(a) U. S. A. 

(b) India 

(c) Australia 

(d) China 
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13- ckWDlkbV ,d v;Ld gS % 

¼v½ yksgk ds 

¼c½ rk¡ck ds 

¼l½ ,Y;qfefu;e ds 

¼n½ vHkzd ds 

Bauxite is an ore of : 

(a) Iron 

(b) Copper 

(c) Aluminium 

(d) Mica 

14- ysVjkbts’ku dh izfØ;k fdl {ks= esa vf/kdka’kr% gksrh gS \ 

¼v½ le’khrks”.k dfVcU/kh; 

¼c½ m”.k vknZz dfVca/kh; 

¼l½ m”.k dfVca/kh; 

¼n½ VSxk izns’k  

The process of laterization occurs typically in : 

(a) Temperate zone 

(b) Hot Humid zone 

(c) Tropical zone 

(d) Taiga region 
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15- dsjy ds foftu>ke uked LFkku ij LFkkfir fd;k x;k gS % 

¼v½ rjax ÅtkZ la;a= 

¼c½ Tokjh; ÅtkZ la;a= 

¼l½ vkf.od ÅtkZ la;a= 

¼n½ ok;q ÅtkZ la;a= 

The plant established at the place named Vijinjham in  

Kerala : 

(a) Wave energy plant 

(b) Tidal energy plant 

(c) Atomic energy plant 

(d) Wind energy plant 

16- fofuekZ.k m|ksx esa D;k lgh gS \ 

¼v½ [kuu ,oa mR[kuu 

¼c½ oLrqvksa dk mRiknu 

¼l½ i’kqikyu ,oa Ñf”k 

¼n½ f’k{kk ,oa izf’k{k.k 

What is correct in manufacturing industries ? 

(a) Mining and Excavation 

(b) Production of goods 

(c) Grazing and Agriculture 

(d) Education and Training 
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17- vkblksMksisu D;k gS \ 

¼v½ cktkj 

¼c½ ykxr 

¼l½ ifjogu ykxr 

¼n½ Je ykxr 

What is Isodapane ? 

(a) Market 

(b) Cost 

(c) Transport cost 

(d) Labour cost 

18- fo’o esa jsy ekxks± dh lokZf/kd yEckbZ fdl ns’k eas gS \ 

¼v½ Hkkjr 

¼c½ dukMk 

¼l½ lksfo;r :l 

¼n½ la;qDr jkT; vesfjdk 

Which country have maximum length of railway track in the 

world ? 

(a) India 

(b) Canada 

(c) U. S. S. R. 

(d) U. S. A. 
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19- fo’o O;kikj laxBu esa fdrus ns’k gSa \ 

¼v½ 159 

¼c½ 169 

¼l½ 179 

¼n½ 189 

How many countries are organise in World Trade 

Organization ? 

(a) 159 

(b) 169 

(c) 179 

(d) 189 

20- Hkkjr vkfFkZd fodkl dh n`f”V ls fdl Js.kh esa vkrk gS \ 

¼v½ fodflr  

¼c½ fodkl’khy 

¼l½ vfodflr 

¼n½ fiNM+k 

What is the rank of India in the view of development ? 

(a) Developed 

(b) Developing 

(c) Undeveloping 

(d) Backward 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt all questions in 2-3 sentences. 

1- ßekuo Kku vU; lHkh lalk/kuksa dk tud gSAÞ le>kb,A 

“Human knowledge is mother of all other resources.” 
Explain it. 

2- izkÑfrd ,oa ekuoh; lalk/ku esa vUrj Li”V dhft,A 

Differentiate between Natural and Human resources. 

3- v/kkfRod [kfutksa esa fdls ‘kkfey fd;k tkrk gS \ 

Which are included in non-metallic minerals ? 

4- fj;ks lEesyu dk izFke fl)kUr D;k dgykrk gS \ 

What tells of concept in first Rio conference ? 

5- lgk;d m|ksx D;k gS \ 

What is Facilitative industries ? 

6- oS’ohdj.k D;k gS \ 

What is Globalization ? 

7- lalk/ku laj{k.k dh ifjHkk”kk nhft,A 

Give definition of Resource Conservation. 
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8- Lost ugj ekxZ dk fooj.k nhft,A 

Give description about Suez canal route. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 75 ‘kCnksa esa nhft,A 

 Attempt all questions in about 75 words. 

1- izkFkfed] f}rh;d ,oa r`rh;d dk;ks± esa vUrj crkb,A 

Differentiate between primary, secondary and tertiary 

activities. 

2- vkfFkZd Hkwxksy ds fo”k;&{ks= ij izdk’k Mkfy,A 

Throw light on scope of economic geography. 

3- ty lalk/ku laj{k.k ds mik;ksa dk o.kZu dhft,A 

Describe the measures of water conservation. 

4- tSofofo/krk ds D;k dkj.k gSa \ 

What are the causes of Biodiversity ? 

5- Hkkjr ds ykSg&v;Ld mRiknd {ks=ksa dk o.kZu dft,A 

Describe the iron-ore producing area of India. 
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6- lkxjh; lalk/kuksa ls vki D;k le>rs gSa \ izeq[k lkxjh; lalk/kuksa dk 

o.kZu dhft,A 

What do you mean by oceanic resources ? Describe the 
major oceanic resources. 

7- feêh fodkl dh izfØ;k dk o.kZu dhft,A 

Describe the process of soil growth. 

8- ykW’k ds vkS|ksfxd vofLFkfr fl)kUr dh izeq[k ekU;rk,¡ D;k gSa \ 

What are the main components of Industrial location theory 
of Losch ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 150 ‘kCnksa esa nhft,A 

 Attempt all questions in about 150 words. 

1- vkfFkZd Hkwxksy dh izeq[k ladYiukvksa dk o.kZu dhft,A 

Describe the main concepts of economic geography. 

vFkok 

(Or) 

lalk/ku oxhZdj.k ds izeq[k rRoksa dh foospuk dhft,A 

Explain the major elements of resource classification. 

2- fdlh ,d ÅtkZ lalk/ku ij foLr`r ys[k izLrqr dhft,A 

Write a brief essay on any one energy resource. 
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vFkok 

(Or) 

ykSg&v;Ld ds mRiknu] mi;ksx ,oa fo’o forj.k ij izdk’k Mkfy,A 

Highlight the production, use and world distribution of Iron-
ore. 

3- oscj ds m|ksxksa ds LFkkuh;dj.k ds fl)kUr dh vkykspukRed foospuk 

dhft,A 

Explain critically the concept of Industrial location by 
Weber. 

vFkok 

(Or) 

oS’ohdj.k dh orZeku izo`fŸk;k¡ D;k gSa \ le>kb,A  

Explain the present trend in Globalization. 

4- lalk/ku izcU/ku ij ,d laf{kIr ys[k izLrqr dhft,A 

Write a brief note on Resource Management. 

vFkok 

(Or) 

lalk/ku laj{k.k dh vo/kkj.kk ds fodkl dks Li”V dhft,A 

Explain the development of the concept of resource 

conservation. 
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